
EXEB3I8KS. 133

a The ugk. .t tha vertioM of two triangles are both »T «id th.

rtruct the trutngW Show by measurement that trianglesTr,«^•Pgular. and tUt the .r-oaininK "idea are a. 10 :

„_""'*'*' "* *»»*•

». Conatruct an «.ele BAC of SV. and from P in AC draw PN oerpendicular to AB. Measure the length, of AP, AN PN in n,™"m.^ and flnd.h, numerical valneaStwopUo^.^^'de^lj^S

ra AN PN
AP- A-P "«» AN-

th«"J"/p
P"^'"*f I""'"". k-Pi-K to the angle of W. take^e point P m d.irere„t poaitiona on AC. drop the perpend cuU^

two decnnal pUoe. the values of the preceding ratios. <^Z^value* with those already obtained.
t^mpare

11. Keeping to same angle 39-, take the point P i„ AB and dronPN perpendicuUr on AC. Again calouUte th^ ratioj.
^

1,™ ^^"^""u
™'"'''"'''° » to the values of these ratios -neru tohyp.; base tohyp.,perp. to base-so far as theangle 39" is con«™e^

ll^^^Jt "^^^'"K'*! tri'-Klo ABC (C=90») is found to be748 ft. and the angle ABC is 39'. Use the results of the three pre!c^mg questions to find approximately the lengtu. of AC^Hb^


